

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Form 990-PF Department of the Treasury

Return of Private Foundation or Section 4947(a)(1) Nonexempt Charitable Trust Treated as a Private Foundation

OMB No. 1545-0052

Note The foundation may be able to use a copy of this return to satisfy state reporting requirements Internal Revenue Service For calendar year 2011 or tax year beginning , and ending Name of foundation A Employer identification number THE ELLEN LEVY FOUNDATION U/A DTD 12/23/96 31-1498912 Number and street (or P O box number if mail is not delivered to street address) Room/suite B Telephone number 9300 DIX AVENUE (313)843-7200City or town, state, and ZIP code C If exemption application is pending, check here 48120 DEARBORN, MI G Check all that apply: Initial return Initial return of a former public charity D 1. Foreign organizations, check here Final return Amended return Foreign organizations meeting the 85% test, check here and attach computation Address change X Section 501(c)(3) exempt private foundation H Check type of organization E If private foundation status was terminated Section 4947(a)(1) nonexempt charitable trust _____ Other taxable private foundation under section 507(b)(1)(A), check here I Fair market value of all assets at end of year | J Accounting method X Cash If the foundation is in a 60-month termination (from Part II, col. (c), line 16) ___ Other (specify) under section 507(b)(1)(B), check here 1,019,704. (Part I, column (d) must be on cash basis.) ▶\$ Part | Analysis of Revenue and Expenses (d) Disbursements or chantable purposes (cash basis only) (a) Revenue and (b) Net investment (c) Adjusted net (The total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in column (a)) expenses per books income ıncome N/A Contributions, gifts, grants, etc., received Check X if the foundation is not required to attach Sch. B 29,947. 29,947. STATEMENT Dividends and interest from securities \bigcirc 5a Gross rents Net rental income or (loss) 63,254 6a Net gain or (loss) from sale of assets 633 488 200 SX 63,254Capital gain net income (from Part IV Net short-term capital gain Income modifications Gross sales less returns and allowances ogde b Less Cost of goods sold c Gross profit or (loss) Other income 11 93,201 93,201 12 Total. Add lines 1 through 11 Compensation of officers, directors, trustees, etc. 14 Other employee salaries and wages 15 Pension plans, employee benefits Expenses 16a Legal fees 1,325. STMT 2,650. **b** Accounting fees STMT 5,503. 5,503. c Other professional fees Operating and Administrative 17 Interest 304 STMT 150 18 Taxes 19 Depreciation and depletion Occupancy 21 Travel, conferences, and meetings 22 Printing and publications STMT 5 35. 35. 23 Other expenses 0. 24 Total operating and administrative 8,492 7,013. 1,325. expenses. Add lines 13 through 23 91,500. 91,500. 25 Contributions, gifts, grants paid 26 Total expenses and disbursements. 99,992 7,013 92,825. Add lines 24 and 25 27 Subtract line 26 from line 12: -6,7912 Excess of revenue over expenses and disbursements 86,188 b Net investment income (if negative, enter -0-) N/A c Adjusted net income (if negative, enter -0-)

LHA For Paperwork Reduction Act Notice, see instructions.

1

Page 2

•	Attached schedules and amounts in the description	Beginning of year	End of	f year
Pari	Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only	(a) Book Value	(b) Book Value	(c) Fair Market Value
1	Cash - non-interest-bearing	11,843.	4,540.	4,540. 19,064.
	Savings and temporary cash investments	21,853.	19,064.	19,064.
3	Accounts receivable			
	Less allowance for doubtful accounts			
4				10 11 111 - 111 111
- 1	Less. allowance for doubtful accounts ▶		i	
5	Grants receivable			
6	Receivables due from officers, directors, trustees, and other			
	disqualified persons			
7	Other notes and loans receivable			
	Less: allowance for doubtful accounts			
<i>y</i> 8				
Assets 6 ca	Prepaid expenses and deferred charges	·		
¥ 10	a Investments - U.S. and state government obligations			
	b Investments - corporate stock STMT 6	377,394.	323,527.	408,984.
	c Investments - corporate bonds STMT 7	524,725.	581,893.	587,116.
	Investments - land, buildings, and equipment basis			
''	Less accumulated depreciation			
12	Investments - mortgage loans		· · · · · · · · · · · · · · · · · · ·	
13				
1	Land, buildings, and equipment basis			
'7	Less: accumulated depreciation	ĺ		
15	Other assets (describe ►			
"				
16	Total assets (to be completed by all filers)	935,815.	929,024.	1,019,704.
17				
18				
م ا			- <u>-</u> -	
Liabilities 51	•			
등 21				
ت ₂₂	Other liabilities (describe			
23	Total liabilities (add lines 17 through 22)	0.	0.	
	Foundations that follow SFAS 117, check here			
	and complete lines 24 through 26 and lines 30 and 31.			
8 24				
ue 25				
B 26				
בן	Foundations that do not follow SFAS 117, check here			
린	and complete lines 27 through 31			
စ် 27	· · · · · · · · · · · · · · · · · · ·	0.	0.	
35 28		0.	0.	
Net Assets or Fund Balances		935,815.	929,024.	
를 30		935,815.	929,024.	
_				
31	Total liabilities and net assets/fund balances	935,815.	929,024.	

Pari	the Alianysis of Changes in Net Assets of Fulld D			
1 Tota	al net assets or fund balances at beginning of year - Part II, column (a), line	30		
(mu	ist agree with end-of-year figure reported on prior year's return)		1	935,815.
2 Ent	er amount from Part I, line 27a		. 2	-6,791.
3 Oth	er increases not included in line 2 (itemize)		3	0.
4 Add	lines 1, 2, and 3		. 4	929,024.
5 Dec	reases not included in line 2 (itemize)		5	0.
6 Tota	al net assets or fund balances at end of year (line 4 minus line 5) - Part II, co	olumn (b), line 30	6	929,024.
				Form 990-PF (2011)

Page 3

Part IV Capital Gains a	nd Losses for	Tax on Investmen	t Income					
		perty sold (e g , real estate, stock, 200 shs MLC Co)		P	low acquired - Purchase - Donation		e acquired day, yr)	(d) Date sold (mo , day, yr)
1a PUBLICLY TRADED	SECURITI	ES			P			- ,
b LITIGATION PROC	EEDS				P			-
8								
d								
е								
(e) Gross sales price	(f) Depreciation (or allowat	197	ost or other basis expense of sale				Gain or (loss us (f) minus (
a 633,427.			570,23	4.	•			63,193.
b 61.								61.
_ C	. 							
d								
е				\Box				
Complete only for assets showing	gain in column (h) a	ind owned by the foundatio	п оп 12/31/69		(I) Gains	(Col (h) gain	minus
(i) F M V as of 12/31/69	(j) Adjusted l as of 12/31		xcess of col (I) r col (J), If any		co	l (k), bu Losse	t not less than s (from col (ı -0-) ar h))
a								63,193.
b			_					61.
C						-		
d								
е								
2 Capital gain net income or (net cap		jain, also enter in Part I, line loss), enter -0- in Part I, line		}	2			63,254.
3 Net short-term capital gain or (loss) as defined in section	ns 1222(5) and (6)						
If gain, also enter in Part I, line 8, c		(0)		<i>J</i>				
If (loss), enter -0- in Part I, line 8		<u></u>		Л	3		N/A	
Part V Qualification Ur	ider Section 4	940(e) for Reduced	d Tax on Net	Inve	estment Ind	come		
If section 4940(d)(2) applies, leave this Was the foundation liable for the section If "Yes," the foundation does not qualif Enter the appropriate amount in each	on 4942 tax on the d y under section 4940	(e) Do not complete this p	art					Yes X No
(a)		(b)		(c)			Dietrib	(d) ution ratio
Base period years Calendar year (or tax year beginning	ın) Adjusted	qualifying distributions	Net value of nor	nchar	itable-use assets	3	(col (b) div	ided by col (c))
2010		94,151.		1,	,093,102	2.		.086132
2009		87,838.			997,092			.088094
2008		100,057.			,057,799			.094590
2007		103,799.			,110,686			.093455
2006		74,303.		1,	,065,399	9.		.069742
2 Total of line 1, column (d)	•					2		.432013
3 Average distribution ratio for the 5-	year base period - di	vide the total on line 2 by 5	, or by the number	of yea	ars			
the foundation has been in existence	e if less than 5 years			_		3		086403
4 Enter the net value of noncharitable	-use assets for 2011	from Part X. line 5				4		1,088,970.
		•			-		T	
5 Multiply line 4 by line 3						5		94,090.
6 Enter 1% of net investment income	(1% of Part I, line 2	7b)				_6_		862.
7 Add lines 5 and 6	-					7	<u> </u>	94,952.
8 Enter qualifying distributions from	Part XII. line 4					8		92,825.
If line 8 is equal to or greater than li See the Part VI instructions	-	n Part VI, line 1b, and com	plete that part using	ja 1%	6 tax rate		1	72,023.
123521 12-02-11						-	Ec	orm 990-PF (2011)

THE ELLEN LEVY FOUNDATION

Forr		498912		Page 4
Pa	irt VI Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948 - s	ee instr	uctio	ns)
18	Exempt operating foundations described in section 4940(d)(2), check here and enter "N/A" on line 1		·	
	Date of ruling or determination letter (attach copy of letter if necessary-see instructions)			
t	Domestic foundations that meet the section 4940(e) requirements in Part V, check here ightharpoonup and enter 1%		1,7	724.
	of Part I, line 27b			
0	: All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b)			
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)			0.
3	Add lines 1 and 2		1,7	724.
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)			0.
5	Tax based on investment income. Subtract line 4 from line 3. if zero or less, enter -0-		1,7	724.
6	Credits/Payments			*****
a	2011 estimated tax payments and 2010 overpayment credited to 2011 6a 680 .			
t	Exempt foreign organizations - tax withheld at source			
C	Tax paid with application for extension of time to file (Form 8868)			
	Backup withholding erroneously withheld 6d			
7	Total credits and payments Add lines 6a through 6d		6	580.
8	Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached 8			
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed		1.0)44.
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid			
	Enter the amount of line 10 to be Credited to 2012 estimated tax ▶ Refunded ▶ 11			
_	ert VII-A Statements Regarding Activities			
	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or intervene in		Yes	No
	any political campaign?	1a		X
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see instructions for definition)?	1b	T-	X
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials published or		 	1
	distributed by the foundation in connection with the activities.			
C	Did the foundation file Form 1120-POL for this year?	10		X
	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year.		<u> </u>	1
	(1) On the foundation ► \$ 0 • (2) On foundation managers ► \$ 0 •			
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation			
	managers ▶ \$ 0.			
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?	2	1	x
	If "Yes," attach a detailed description of the activities.			1
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or			
	bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes	3	ĺ	X
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4a	<u> </u>	X
b	If "Yes," has it filed a tax return on Form 990-T for this year?	4 4b	<u> </u>	_
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5		X
	If "Yes," attach the statement required by General Instruction T.		1	
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either			1
	By language in the governing instrument, or			
	By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the state law	}		
	remain in the governing instrument?	6	X	1
7	Did the foundation have at least \$5,000 in assets at any time during the year?	7	Х	
	If "Yes," complete Part II, col. (c), and Part XV.		 -	
8a	Enter the states to which the foundation reports or with which it is registered (see instructions)			
	MI	_		
b	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)	_		
	of each state as required by General Instruction G? If "No," attach explanation	8b	Х	
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calendar	<u></u>		
	year 2011 or the taxable year beginning in 2011 (see instructions for Part XIV)? If "Yes," complete Part XIV	9	1	Х
10		10		X
	g 10. second devices in any timing sing acultases	Form QQ(DE	

_	1990-PF (2011)	J 1 L		Page :
	art VII-A Statements Regarding Activities (continued)			
11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the meaning of		1	
	section 512(b)(13)? If "Yes," attach schedule (see instructions)	11		_X
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had advisory privileges?			
	If "Yes," attach statement (see instructions)	12		X
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	13	X	L
	Website address ► N/A			
14			<u>720</u>	0
	Located at ► 9300 DIX AVENUE, DEARBORN, MI ZIP+4 ►4	8120		
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 - Check here		, -	
	and enter the amount of tax-exempt interest received or accrued during the year		/A	
16	At any time during calendar year 2011, did the foundation have an interest in or a signature or other authority over a bank,	, [Yes	
	securities, or other financial account in a foreign country?	16		X
	See the instructions for exceptions and filing requirements for Form TD F 90-22.1 If "Yes," enter the name of the foreign			
	country			
PE	art VII-B Statements Regarding Activities for Which Form 4720 May Be Required			
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.		Yes	No
1a	During the year did the foundation (either directly or indirectly)			
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person?			
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from)			
	a disqualified person?			
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person?			
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person?			
	(5) Transfer any income or assets to a disqualified person (or make any of either available			
	for the benefit or use of a disqualified person)?			
	(6) Agree to pay money or property to a government official? (Exception. Check "No"			
	if the foundation agreed to make a grant to or to employ the official for a period after			
	termination of government service, if terminating within 90 days)			
t	olf any answer is "Yes" to 1a(1)-(6), did any of the acts fail to qualify under the exceptions described in Regulations			
	section 53 4941(d)-3 or in a current notice regarding disaster assistance (see instructions)?	1b		
	Organizations relying on a current notice regarding disaster assistance check here			
	: Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected	1 1		
	before the first day of the tax year beginning in 2011?	10		X
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation			
	defined in section 4942(j)(3) or 4942(j)(5))			
ā	At the end of tax year 2011, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning			
	before 2011? Yes X No			
	If "Yes," list the years \triangleright			
t	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2) (relating to incorrect			
	valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to all years listed, answer "No" and attach			
	statement - see instructions)	2b		
(: If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here			
_				
38	a Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time Uring the year? Yes X No			
_				
t	o If "Yes," did it have excess business holdings in 2011 as a result of (1) any purchase by the foundation or disqualified persons after			
	May 26, 1969, (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose			
	of holdings acquired by gift or bequest; or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the foundation had excess business holdings in 2011.) N/A	AL		
_	• • • • • • • • • • • • • • • • • • • •	3b		v
	a Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a		<u>X</u> _
ı	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that	4.		v
	had not been removed from jeopardy before the first day of the tax year beginning in 2011?	4b rm 990	DE	X
				411171

Form **990-PF** (2011)

Total number of other employees paid over \$50,000

Part VIII Information About Officers, Directors, Trustees, Foundation Paid Employees, and Contractors (continued)		
3 Five highest-paid independent contractors for professional services. If none, enter "NO		
(a) Name and address of each person paid more than \$50,000	(b) Type of service	(c) Compensation
NONE		
	· · · · · · · · · · · · · · · · · · ·	
Total number of others receiving over \$50,000 for professional services Part IX-A Summary of Direct Charitable Activities		<u>▶</u> 0
List the foundation's four largest direct charitable activities during the tax year. Include relevant statistical in number of organizations and other beneficiaries served, conferences convened, research papers produced	nformation such as the	Expenses
27/2	, etc	
1 N/A		
^		
2		
		
3		
		<u></u>
4		
Part IX-B Summary of Program-Related Investments		- · · · · · · · · · · · · · · · · · · ·
Describe the two largest program-related investments made by the foundation during the tax year on lines	1 and 2.	Amount
1 N/A		741104110
2		
All other program-related investments. See instructions		
3		
Total. Add lines 1 through 3	>	0.
		Form 990-PF (2011)

Form 990-PF (2011)

	Minimum Instanton		
P	Minimum Investment Return (All domestic foundations must complete this part. Foreign foundations	ndations, :	see instructions.)
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes.		
а	Average monthly fair market value of securities	18	1,035,371. 70,182.
þ	Average of monthly cash balances	1b	70,182.
C	Fair market value of all other assets	10	
d	Total (add lines 1a, b, and c)	1d	1,105,553.
е	Reduction claimed for blockage or other factors reported on lines 1a and		
	1c (attach detailed explanation) 1e 0 •		_
2	Acquisition indebtedness applicable to line 1 assets	2	0.
3	Subtract line 2 from line 1d	3	1,105,553.
4	Cash deemed held for charitable activities Enter 1 1/2% of line 3 (for greater amount, see instructions)	4	16,583.
5	Net value of noncharitable-use assets. Subtract line 4 from line 3 Enter here and on Part V, line 4	5	1,088,970.
6	Minimum investment return. Enter 5% of line 5	6	54,449.
P	Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations are foreign organizations check here and do not complete this part.)	nd certain	
1	Minimum investment return from Part X, line 6	1	54,449.
2a	Tax on investment income for 2011 from Part VI, line 5		-
b	Income tax for 2011. (This does not include the tax from Part VI)		
C	Add lines 2a and 2b	2c	1,724.
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	52,725.
4	Recoveries of amounts treated as qualifying distributions	4	0.
5	Add lines 3 and 4	5	52,725.
6	Deduction from distributable amount (see instructions)	6	0.
7	Distributable amount as adjusted Subtract line 6 from line 5 Enter here and on Part XIII, line 1	7	52,725.
P	art XII Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes		
a	Expenses, contributions, gifts, etc total from Part I, column (d), line 26	1a	92,825.
b	Program-related investments - total from Part IX-B	1b	0.
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the		· -
a	Suitability test (prior IRS approval required)	3a	
b	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b Enter here and on Part V, line 8, and Part XIII, line 4	4	92,825.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment		
	income. Enter 1% of Part I, line 27b	5	0.
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	92,825.

Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation qualifies for the section

Form **990-PF** (2011)

4940(e) reduction of tax in those years

Part XIII Undistributed Income (see instructions)

	(a) Corpus	(b) Years prior to 2010	(c) 2010	(d) 2011
1 Distributable amount for 2011 from Part XI,				· · · · · · · · · · · · · · · · · · ·
line 7	······································		**************************************	52,725.
2 Undistributed income, If any, as of the end of 2011				
a Enter amount for 2010 only			0.	· · · · · · · · · · · · · · · · · · ·
ь Total for prior years				
		0.	···· ···· ··· · · · · · · · · · · · ·	1
3 Excess distributions carryover, if any, to 2011				
a From 2006 23,027. b From 2007 51,267.				
b From 2007 51, 26 / •				
t From 2008 47,653.				
d From 2009 40,307. e From 2010 40,844.				
	203,098.			
f Total of lines 3a through e	203,090.			·····
4 Qualifying distributions for 2011 from Part XII, line 4 ▶\$ 92,825.				
			0.	
a Applied to 2010, but not more than line 2a	······································			~~***
b Applied to undistributed income of prior		0.		
years (Election required - see instructions) c Treated as distributions out of corpus			····	
'	0.			
(Election required - see instructions) d Applied to 2011 distributable amount	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	52,725.
e Remaining amount distributed out of corpus	40,100.			32,123.
5 Excess distributions carryover applied to 2011	0.		· · · · · · · · · · · · · · · · · · ·	0.
(If an amount appears in column (d), the same amount must be shown in column (a))				0.
6 Enter the net total of each column as indicated below:				
2 Corpus Add lines 3f, 4c, and 4e Subtract line 5	243,198.			
b Prior years' undistributed income. Subtract				
line 4b from line 2b		0.		
c Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed		0.		
d Subtract line 6c from line 6b Taxable				······
amount - see instructions		0.		
e Undistributed income for 2010. Subtract line				
4a from line 2a Taxable amount - see instr			0.	
f Undistributed income for 2011 Subtract			<u></u>	
lines 4d and 5 from line 1. This amount must				
be distributed in 2012				0.
7 Amounts treated as distributions out of				
corpus to satisfy requirements imposed by				
section 170(b)(1)(F) or 4942(g)(3)	0.			
8 Excess distributions carryover from 2006				
not applied on line 5 or line 7	23,027.			
9 Excess distributions carryover to 2012.				
Subtract lines 7 and 8 from line 6a	220,171.			
O Analysis of line 9				
a Excess from 2007 51,267. b Excess from 2008 47,653.			1	
b Excess from 2008 47,653.				
c Excess from 2009 40,307.				
d Excess from 2010 40,844.				
e Excess from 2011 40, 100.				5 000 DE (00.11)

Part XIV Private Operating F	oundations (see In:	structions and Part VII	·A, question 9)	N/A	
1 a If the foundation has received a ruling of	r determination letter that	it is a private operating			
foundation, and the ruling is effective fo	r 2011, enter the date of t	he ruling	>		
b Check box to indicate whether the found	dation is a private operatir	ng foundation described i	n section	4942(j)(3) or 494	2(j)(5)
2 a Enter the lesser of the adjusted net	Tax year		Prior 3 years		
income from Part I or the minimum	(a) 2011	(b) 2010	(c) 2009	(d) 2008	(e) Total
investment return from Part X for					
each year listed	!				
b 85% of line 2a					
c Qualifying distributions from Part XII,					
line 4 for each year listed					
d Amounts included in line 2c not					
used directly for active conduct of					
exempt activities			•		
e Qualifying distributions made directly					
for active conduct of exempt activities					
Subtract line 2d from line 2c					
3 Complete 3a, b, or c for the					
alternative test relied upon a "Assets" alternative test - enter					
(1) Value of all assets					
• •		· · · · · · · · · · · · · · · · · · ·			
(2) Value of assets qualifying under section 4942(j)(3)(B)(i)					
b "Endowment" alternative test - enter					
2/3 of minimum investment return shown in Part X, line 6 for each year listed					
c "Support" alternative test - enter		 "			
(1) Total support other than gross					
investment income (interest,	!				
dividends, rents, payments on					
securities loans (section 512(a)(5)), or royalties)					
(2) Support from general public					
and 5 or more exempt					
organizations as provided in section 4942(j)(3)(B)(iii)					
(3) Largest amount of support from		· · · · · · · · · · · · · · · · · · ·			
an exempt organization					
(4) Gross investment income					
Part XV Supplementary Info	rmation (Comple	te this part only	f the foundation	had \$5,000 or mor	e in assets
at any time during t	_			, ,	
1 Information Regarding Foundation	n Managers:			<u> </u>	
a List any managers of the foundation wh	o have contributed more	than 2% of the total conti	ributions received by the f	foundation before the close	of any tax
year (but only if they have contributed n	nore than \$5,000) (See se	ection 507(d)(2).)			·
ELLEN LEVY					
b List any managers of the foundation wh			or an equally large portion	n of the ownership of a par	tnership or
other entity) of which the foundation has	a 10% or greater interes	t.			
NONE					
2 Information Regarding Contributi					
Check here 🕨 🗓 If the foundation o	nly makes contributions t	o preselected charitable (organizations and does no	ot accept unsolicited reques	sts for funds If
the foundation makes gifts, grants, etc.	(see instructions) to indiv	iduals or organizations ui	nder other conditions, coi	mplete items 2a, b, c, and d	
a The name, address, and telephone num	ber of the person to whom	n applications should be	addressed		-
b The form in which applications should b	e submitted and informat	ion and materials they sh	ould include		
c Any submission deadlines	· .		· · · · · · · · · · · · · · · · · · ·		
d Any restrictions or limited and on a sure	a such as his sacrashing	Lorono obsertable Selde	lundo of motivities	hav fastav-	
d Any restrictions or limitations on awards	, such as by geographica	i areas, chantable fields,	kinus oi institutions, or ot	mer factors	

3 Grants and Contributions Paid During the Y		Payment		
Recipient	If recipient is an individual, show any relationship to	Foundation status of	Purpose of grant or contribution	Amount
Name and address (home or business)	any foundation manager or substantial contributor	recipient	Contribution	7
a Paid during the year				
ALPHA WORKSHOPS		PUBLIC CHARITY	PROVIDE TRAINING	
245 WEST 29TH STREET FLOOR 12A			PROGRAMS	
NEW YORK, NY 10001				15,000
LAMBDA LEGAL		PUBLIC CHARITY	LEGAL SERVICES FOR	
730 PEACHTREE STREET NE SUITE 1070			CIVIL RIGHTS EQUALITY	
ATLANTA, GA 30309				2,500
NATURE CONSERVANCY		PUBLIC CHARITY	PROTECT NATURE	
2021 21ST AVENUE SOUTH, STE C-400				
NASHVILLE, TN 37212				10,000
TENNESSEE JUSTICE CENTER		PUBLIC CHARITY	LEGAL SERVICES FOR	
301 CHARLOTTE AVE.			INDIGENT	24 222
NASHVILLE, TN 37201				24,000
FILM FORUM 35TH AVENUE & 36TH STREET		PUBLIC CHARITY	PRESERVATION OF ART	
ASTORIA, NY 11106				30,000
	TINUATION SHEE	ET(S)	▶ 3a	91,500
b Approved for future payment				
NONE				
Total			▶ 3b	

Form **990-PF** (2011)

U/A DTD 12/23/96

31-1498912 Page 12

Part XVI-A	Analysis of Income-Producing Activities
	Analysis of moorne i roddomy nourmou

Enter gross amounts unless otherwise indicated	Unrelated b	usiness income		by section 512, 513, or 514	(e)	
•	(a) Business	(b) Amount	(C) Exclu- sion	(d) Amount	Related or exempt function income	
1 Program service revenue	code	7.11.70110	code	Amount	Tunction income	
a	-					
b	- 					
<u> </u>	_				 	
d						
e						
1	_					
g Fees and contracts from government agencies				-		
2 Membership dues and assessments	<u> </u>					
3 Interest on savings and temporary cash						
Investments			14	29,947.		
4 Dividends and interest from securities			14	23,341.		
5 Net rental income or (loss) from real estate:						
a Debt-financed property	.					
 b Not debt-financed property 6 Net rental income or (loss) from personal 	.		 			
7 Other investment income		•	 			
8 Gain or (loss) from sales of assets other						
than inventory			18	63,254.		
9 Net income or (loss) from special events			 •	30,2311		
O Gross profit or (loss) from sales of inventory						
1 Other revenue						
a						
b						
c						
d	1					
6						
2 Subtotal Add columns (b), (d), and (e)		(0.	93,201.	(
3 Total. Add line 12, columns (b), (d), and (e)				13		
See worksheet in line 13 instructions to verify calculations)		= . =			
Part XVI-B Relationship of Activitie	s to the Accom	plishment of	Exempt P	urposes		
	••					
Line No. Explain below how each activity for which in	•			d importantly to the accomp	dishment of	
the foundation's exempt purposes (other th	ian by providing tunds	ior such purposes)				
•						

Line No.	Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to the accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes)					

123621 12-02-11

Form **990-PF** (2011)

· Mi · A		: Organiza	_		and mansactions	and	i i telationsi	inpo with rec		,	
1 Did				 nv of the following	ng with any other organiza	ation de	escribed in secti	on 501(c) of	1000	Yes	No
1 Did the organization directly or indirectly engage in any of the following with any other organization described in section 501(c) of the Code (other than section 501(c)(3) organizations) or in section 527, relating to political organizations?										-	110
	sfers from the report		-	•							
	Cash				·	_			1a(1)		X
	Other assets								1a(2)		X
	er transactions										
(1)	Sales of assets to a r	noncharitable e	exempt organ	ızatıon					16(1)		X
(2) Purchases of assets from a noncharitable exempt organization											X
(3)	Rental of facilities, ed	quipment, or o	ther assets						1b(2) 1b(3)		X
(4)	Reimbursement arra	ngements							1b(4)		X
(5)	Loans or loan guarar	ntees							1b(5)		X
(6)	Performance of servi	ices or membe	ership or fund	raising solicitation	ons				1b(6)		X
c Sha	ring of facilities, equip	pment, mailing	lists, other a	ssets, or paid em	ployees				10		X
d if th	e answer to any of the	e above is "Yes	s," complete ti	ne following sche	edule Column (b) should	always	show the fair m	arket value of the	goods, other as:	sets,	
					ed less than fair market v	alue in	any transaction	or sharing arrang	ement, show in		
	mn (d) the value of th						(4)				
(a) Line no	(b) Amount Inv	/orved	(c) Name		e exempt organization		(0) Description	of transfers, transact	ions, and sharing a	rangeme	ents
				N/A							
-				· · · · · · · · · · · · · · · · · · ·							
·											
	ļ										
											
		-									
									-		
											
											
						-			·		
0 1 1			ffiles hand a subh								
	e roundation directly ection 501(c) of the C	•			or more tax-exempt orga	anizatio	ons described		Yes	T	□ No
	es," complete the follo	•		(c)(3)) or in sec		٠	•		162	LA	טווו ב
U II I		ame of organiz			(b) Type of organization	n T		c) Description of	relationship		
	<u> </u>	N/A			(-, -, -,			,,,,			
								-			
			_								
									- · · · · · · · · · · · · · · · · · · ·		
l					ng accompanying schedules a in taxpayer) is based on all inf				■ May the IRS	discuss	this
Sign	► AM		-1-1	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	14/14/17	, i	ו מ	—	return with the shown below	(see ins	
Here		$M \bigcirc$	XW/			<u>'</u>	V residu	Λ	X Yes	; <u> </u>	J No
	Signature of officer			Dropper's s	Date 7	l Da	Title	Check If	PTIN		
	Printy Type pre								FIIN		
Paid		Tome M. Alianaun						self- employed 2	P00053	811	
Prepa	rer Firm's name	► PLANT	E & MC	RAN, PL	LC			Firm's EIN	1 1 0 0 0 3 3	<u> </u>	—
Use O			•••	,	-			, min y Env			
		s ▶ 2601	CAMBE	RIDGE CT	., SUITE 50	0					
				LS, MI				Phone no 2	<u> 248</u> –375–	710	0
									Form 990	-PF	(2011)

Part XV Supplementary Information Grants and Contributions Paid During the	Year (Continuation)			
Recipient	If recipient is an individual,	Foundation	Purpose of grant or	
Name and address (home or business)	If recipient is an individual, show any relationship to any foundation manager or substantial contributor	status of recipient	Purpose of grant or contribution	Amount
PLANNED PARENTHOOD OF MIDDLE		PUBLIC CHARITY	PROVIDE AFFORDABLE AND	
50 VANTAGE WAY, SUITE 102			PLANNING SERVICES	
NASHVILLE, TN 37228				10,00
		-		
		<u> </u>		
				- -,
				
		!		
	- 	<u> </u>		
Total from continuation sheets		<u> </u>	1	10,00

FORM 990-PF DIVIDENT	S AND	INTER	EST FROM	SECUE	RITIES	STATEMENT	
SOURCE		GROSS	AMOUNT		ITAL GAINS IVIDENDS	COLUMN (A) AMOUNT	
CORPORATE BOND INTEREST MONEY MARKET STOCK DIVIDENDS	-		22,066. 936. 6,945.		0. 0. 0.	22,066 936 6,945	
TOTAL TO FM 990-PF, PART I, LN 4			29,947.			29,947.	
FORM 990-PF	ACC	COUNTI	NG FEES			STATEMENT	
DESCRIPTION	EXPE	A) NSES BOOKS	(B) NET INVI MENT INC		(C) ADJUSTED NET INCOM		
PLANTE & MORAN, PLLC		2,650.	1,325.			1,325	
TO FORM 990-PF, PG 1, LN 16B	2	2,650.	1,325.			1,325.	
FORM 990-PF C	THER I	PROFES	SIONAL FI	EES		STATEMENT	
DESCRIPTION	(/ EXPEN PER I		(B) NET INVI MENT INC		(C) ADJUSTED NET INCOM		
INVESTMENT MANAGEMENT FEES CUSTODY FEES		1,377. 1,126.	4,377. 1,126.		· · ·	0	
TO FORM 990-PF, PG 1, LN 16C	Į.	5,503.	5,503.			0	
FORM 990-PF	TAXES			STATEMENT 4			
	(I EXPEN		(B) NET INVI MENT INC		(C) ADJUSTED NET INCOM		
DESCRIPTION	I LIK I						
DESCRIPTION FOREIGN TAXES 990-PF TAXES		150. 154.		150.		0	

FORM 990-PF	OTHER EX	XPENSES		STATEMENT	5	
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME		(C) ADJUSTED NET INCOM		
FEE ON FOREIGN DIVIDEND RECEIVED CLASS ACTION HANDLING FEE	15. 20.		15. 20.			0.
TO FORM 990-PF, PG 1, LN 23	35.		35.		0	
FORM 990-PF	CORPORATI	E STOCK			STATEMENT	6
DESCRIPTION			вос	K VALUE	FAIR MARKE VALUE	T
SEE ATTACHED STATEMENT		•		323,527.	408,9	84.
TOTAL TO FORM 990-PF, PART II	:	323,527.		408,984.		
FORM 990-PF	CORPORATI	E BONDS			STATEMENT	7
DESCRIPTION			вос	K VALUE	FAIR MARKE VALUE	T
SEE ATTACHED STATEMENT		•		581,893.	587,1	16.
TOTAL TO FORM 990-PF, PART II		581,893.	587,116.			

PORTFOLIO APPRAISAL Ellen Levy Foundation, UAD 12/23/96, Ellen Levy, Ttee.

December 31, 2011

Quantity	Security	Unit Cost	Total Cost	Price	Market Value	Pct. Assets	Yield		
Quantity	Security		Cost		v aluc	Assets	- Ticiu		
COMMON STOCK									
100	Air Products & Chem	96.71	9,671	85.19	8,519	0.8	2.7		
75	Allergan Inc	75.85	5,689	87.74	6,581	0.6	0.2		
200	American Express Co	40.10	8,020	47.17	9,434	0.9	1.5		
300	American Water Works	29.16	8,747	31.86	9,558	0.9	2.9		
100	Apple Inc	19.48	1,948	405.00	40,500	4.0	0.0		
150	Boeing Co	63.55	9,532	73.35	11,003	1.1	2.4		
300	Bristol-Myers Squibb	23.25	6,976	35.24	10,572	1.0	3.9		
150	Caterpillar Inc	28.63	4,295	90.60	13,590	1.3	2.0		
300	Church & Dwight Co	41.94	12,581	45.76	13,728	1.3	1.5		
600	Cisco Systems Inc	16.44	9,866	18.08	10,848	1.1	1.3		
200	Coca Cola Co	51.11	10,222	69.97	13,994	1.4	2.7		
400	Corning Inc	13.94	5,575	12.98	5,192	0.5	2.3		
100	Costco Wholesale	46.09	4,609	83.32	8,332	0.8	1.2		
100	Devon Energy Corp	69.59	6,959	62.00	6,200	0.6	1.1		
100	Diageo PLC ADR	76.42	7,642	87.42	8,742	0.9	3.0		
100	Edwards Lifesciences	84.98	8,498	70.70	7,070	0.7	0.0		
100	Estee Lauder Cl A	101.64	10,164	112.32	11,232	1.1	0.9		
100	Exxon Mobil Corp	83.46	8,346	84.76	8,476	0.8	2.2		
100	FedEx Corp	45.84	4,584	83.51	8,351	0.8	0.6		
500	Ford Motor Company	16.04	8,020	10.76	5,380	0.5	1.9		
700	General Electric Co	16.11	11,280	17.91	12,537	1.2	3.8		
15	Google Inc Cl A	484.69	7,270	645.90	9,689	1.0	0.0		
200	Home Depot Inc	35.92	7,184	42.04	8,408	0.8	2.8		
150	ITC Hldgs Corp	54.68	8,202	75.88	11,382	1.1	1.9		
100	Kinder Morgan Inc	30.05	3,005	32.17	3,217	0.3	3.7		
100	McDonalds Corp	47.68	4,768	100.33	10,033	1.0	2.8		
100	Molycorp Inc	39.20	3,920	23.98	2,398	0.2	0.0		
100	Monsanto Co	61.66	6,166	70.07	7,007	0.7	1.7		
50	National Oilwell Varco	80.66	4,033	67.99	3,400	0.3	0.7		
150	Nestle SA ADR	38.92	5,837	57.71	8,657	0.8	3.1		
100	Occidental Petroleum	87.68	8,768	93.70	9,370	0.9	2.0		
300	Oracle Corp	25.51	7,653	25.65	7,695	0.8	0.9		
50	Perrigo Co	99.04	4,952	97.30	4,865	0.5	0.3		
200	Potash Corp	54.80	10,960	41.28	8,256	0.8	0.7		
200	Republic Services Inc	29.46	5,893	27.55	5,510	0.5	3.2		
200	Roche Hldgs Ltd ADR	37.39	7,477	42.55	8,510	0.8	2.7		
500	Saks Inc	9.74	4,871	9.75	4,875	0.5	0.0		
150	Schlumberger Ltd	77.11	11,567	68.31	10,247	1.0	1.5		
150	Union Pacific Corp	60.87	9,130	105.94	15,891	1.6	2.3		
150	United Technologies	85.78	12,867	73.09	10,964	1.1	2.6		
100	Visa Inc Cl A	86.20	8,620	101.53	10,153	1.0	0.9		
250	Walt Disney Co	34.32	8,580	37.50	9,375	0.9	1.6		
200	Wells Fargo & Co	25.66	5,132	27.56	5,512	0.5	1.7		
200	Weyerhaeuser Co	17.23	3,446	18.67	3,734	0.4	3.2		
			323,527		408,984	40.1	1.7		

1

PORTFOLIO APPRAISAL Ellen Levy Foundation, UAD 12/23/96, Ellen Levy, Ttee.

December 31, 2011

Quantity	Security	Unit Cost	Total Cost	Price	Market Value	Pct. Assets	Yield
CORPORATE E	BONDS						
50,000	IBM INTL GRP CAP 5.050% Due 10-22-12	106.08	53,042	103.63	51,813	5.1	0.5
50,000	NUCOR CORP 5.000% Due 12-01-12	102.36	51,181	103.60	51,801	5.1	4.4
50,000	HONEY WELL INTL 4.250% Due 03-01-13	106.43	53,214	104.32	52,162	5.1	0.6
50,000	BERKSHIRE HATHAWAY FIN 4.600% Due 05-15-13	106.01	53,007	105.18	52,592	5.2	2.9
50,000	IBM CORP 6.500% Due 10-15-13	114.42	57,209	110.28	55,140	5.4	2.8
50,000	SCHERING-PLOUGH (MRK) 5.300% Due 12-01-13	110.15	55,074	108.70	54,351	5.3	0.8
50,000	COCA-COLA CO 3.625% Due 03-15-14	103.50	51,750	106.45	53,226	5.2	2.8
50,000	IBM CORP (Callable) 1.250% Due 05-12-14	101.71	50,856	101.14	50,568	5.0	0.6
50,000	PROCTER & GAMBLE 3.500% Due 02-15-15	101.35	50,675	107.68	53,842	5.3	3.2
50,000	PFIZER INC 5.350% Due 03-15-15	107.60	53,800	113.12	56,559	5.5	3.9
50,000	MERCK & CO 4.000% Due 06-30-15	104.18	52,088	110.12	55,062	5.4	3.2
		_	581,893	_	587,116	58.0	2.4
CASH/MONEY							
	Ford Interest Advantage		19,064	_	19,064	1.9	1.3
			19,064		19,064	1.9	1.3
TOTAL PORTI	FOLIO		924,485		1,015,164	100.0	2.1